SNC1D7:  Static and Current Electricity Test
 Name:________________________________

K/U:________/32

MC:__________/6

C:__________/5     =___________/43

Knowledge and Understanding

1.   A Watt is equivalent to what? 


a) 1 C/s

b) 1 J/s

c) 1 s/J

d) 1 J/C

e) 1 C/J

2.
If a current of 0.8 A flows past a point for 1.0 minute, how much charge has travelled past that point, in C? 

a) 0.80

b) 1.3


c) 48


d) 75


e) None of these

3.
What is the fundamental difference between a parallel connection and a series connection? 


a) Electrons have a choice of paths in a series circuit, and no path choice in a parallel circuit



b) Electrons have a choice of paths in a parallel circuit, and no path choice in a series circuit


c) Series connections have lower resistances than parallel connections


d) Series connections have higher resistances than parallel connections

e) Series connections have more practical uses than parallel connections

4.
If a simple series circuit has a 6 V power supply, and three identical light bulbs, what would be the voltage drop across one of the bulbs, in V? 


a) 2.0

b) 3.0


c) 6

d) 18


e) None of these

5.
What electric potential difference, in V, must exist between the ends of a wire with a resistance of 20 (, so that 40 C of charge pass through it in 10 seconds? 


a) 5.0

b) 20


c) 80


d) 800


e) None of these

6.
A circuit consists of a battery and two bulbs in parallel. .  Voltage is measured across the battery  is 4.0 Volts. The current measured through the first bulb is 0.4 A and the current measured through the second bulb is 0.2 A.

a) Draw the circuit. (*Be sure to draw any meters used as well!). (4 marks)

SHOW YOUR WORK

b) Calculate the total current that flows through the battery. (1 mark)

c) Calculate the resistance of the first bulb. (1 mark)

d) Calculate the resistance of the second bulb. (1 mark)

e) Calculate the resistance of the battery. (1 mark)

Calculate the power of the battery (1 mark)

7. Electric circuits:  Fill in the blanks. (12 marks)

a)
All Light bulbs are the same

IT = 5.0 A


VB = 




I1 = 



V1 = 




I3 = 



V23 = 6.0 V




V123 = 



b)
Light bulbs are not the same



IT = 15.0 A


VB = 6.0 V
I2 = 



V1 = 1.5 V


I3 = 



V2 =  





I4 =  2.0 A


V3 = 1.5 V
I5 = 10.0 A


V4 = 




I6 = I7 = 


V5 = 








V6 = 0.5 V

V7 = 




9.
State one similarity and one difference between static electricity and current electricity. (2 marks)

10.
Name one similarity and one difference between charging by friction and giving an object an induced charge.  (2 marks)
11.
What is an advantage of connecting batteries in series?(1 mark)

12.
What is an advantage of connecting batteries in parallel? (1 mark)

Making Connections

1.
Would  it be better for appliances in your home to be connected in series or in parallel?  State and explain your answer.  (3 marks)

2. Why are fuses or circuit breakers built into electrical circuits? (1 marks)

3. How do lightning rods protect buildings from lightning? (2 marks)

Communication

1.
Explain how a wind turbine works (how wind is converted to electrical energy) (2 marks)

2.
Explain how to charge an object by contact (include diagrams) (3 marks)

 BONUS

Find the voltage rise across the power supply in the following circuit.  (3 marks)









3 Ω


2 A





12 Ω





4 Ω





L3





L2





L1





L1





L7





L2





L3





L6





L5





L4








